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Data Sufficiency
OB 0F DU°§ded

Note: In questions 1 to 20, a question 15 followed by data in the form of two
statements labelled as (T) and (IT). You must decide whether the data given
m the statements are sufficient to answer the questions. Using the data make
an appropnate choice from (1) to (4) as per the following gumidelines.

{a) Mark choice (1) if the statement (I) alone 15 sufficient to answer the
question, but (IT) does not answer the question.

(b) Mark choice (2) if the statement (II) alone 15 sufficient to answer the
question, but (I) does not answer the question.

(c) Mark choice (3) 1f both the statements (T) and (II) are sufficient to answer
the question, but neither statement alone 1s sufficient.

{d) Mark choice (4) if both the statements (I) and (IT) together are not
sufficient to answer the question, and additional data 15 required.
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:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
O 0F DO°§eh

If m,n are natural numbers, 1s m even?

m,n &) Aare3 0PSO, m 25 A0 Q0D ©e)eOT?

(I) mn1s even
mn 28 00 OY;
(I) 2m + 3n1s even

2m + 3n 25 00 0

Options :

1. % 1

Question Number : 2 Question Id : 7856743123 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Data Sufficiency
OB 0F DO°§ed

If x,y,z are negative real numbers. then is p positive?

X, Y, 2 €0 206 aPRs) OPIEN NS, p (Sireh 50 )0

D (x+y)>pz
M) p=2x-3y-4z

Options:

Question Number : 3 Question Id : 7856743124 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
O 0F DO°§aeh



If x and y are real numbers what is the value of x® + y3?
x SO0 y € TR A0ODIEN OB, x3 + y* DN JOeh ?

O x+y=8
@ x*+y*=0

Options :

Question Number : 4 Question Id : 7856743125 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
OB 0F DO°§ed



If a, b are the length and breadths of a rectangle. then what 15 the length of its
diagonal?

a,b €0 Y SO0 TINE). arcd. BCEN)EN @O ), & OY
2eR0[5) DEQ0 PEF0eh?

(I) Perimeter of the rectangle 1s 24cm.
AG T5eRG0 THENTO 24 0.aD.
(II) Area of the rectangle is 35cm?

AY B[00 FFO50 35 13.0.00.

Options :

1. 8 1

Question Number : 5 Question Id : 7856743126 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
OB 0F DT°§ded



If n(A) denotes the number of elements of a set 4, then what is n(A4).
n(4) ©TO AN 4 S HPOTO HOP5D ATV, n(4) J0eb?
(0 (AuB)=20
() n(AnB)=5
Options :
1. % 1
2. % 2

3. 3

4.9 4

Question Number : 6 Question Id : 7856743127 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
O 0F DO°§aeh

If p(x) is a polynomial in x of degree 3, is x = 5, aroot of p(x) = 0?
x € 257096 p(x) TG P50 3 @RI, p(x) = 0 B x = 5 2.8
T OeD)ENOT?

@ p(p@))=3
) p(3)=5

Options :



3.3

4. % 4

Question Number : 7 Question Id : 7856743128 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
OB 0F DT°§ded

What 1s the area of the rectangle ABCD?
ABCD HY HAG00 TS0 0eh?

(I) P 1s the mid pint of side BC.
20230 BC 0308) D65 0 P.
(IT) Area of triangle APD is twice the area of triangle ABP.

€32230 APD Z37°©)50. (320230 APB 3758 DO DEY.

Options :
1. % 1
2. % 2

3. % 3

4. 4



Question Number : 8 Question Id : 7856743129 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
O 0F DO°§adeh

What 1s the area of the Rhombus?

€3 o) TIENA)NBO ABNE) T 0ES?

() One of the diagonals of the Rhombus is 4v/3 cm.
&3 DNIAB)B0 SR 2.8 DEGO 43 V0.3V,

(I) Three vertices of the Rhombus lie on the circumference and the
fourth one lies at the centre of the circle whose radius 1s § cm.

8 0.0, RGO o) 28 S8 HOO 3 & DRSO
TB0E), SR FT°YENORBTT, TOSEA 99 50|50 &
&0000.

Options:

Question Number : 9 Question Id : 7856743130 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
OB 0F DT°§ded

What 15 the volume of the sphere?
e (550 TEY DA DOSPEIT0eh?

(I) The surface area of the sphere is equal to the area of the circle with
radius 5 units.

e3 (10 ANE) GOSO FTOL0 DA 5 OHTALY
FETQOMT 110 39 BFEPERE edPaa.

(II) Radius of the sphere 1s half the length of a diagonal of the mscribed

cube.

es 1190 T308), a0 @0 es 90 ' e90e0Ded e
80 T DETIE DSFSS.

Options :
1.41
2. % 2

3.# 3

Question Number : 10 Question Id : 7856743131 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Data Sufficiency
DT 0F DT°5eH

Seventeen people are standing in a line facing South. What 1s Aruna’s position from
the left end of the line?

BRETE VPO 17 HEA) 155000 2.8 AEFDD F0G AOVEA &) .
DOFTPI DD Ty DOG e0Bed DINEY V0 A?

(I) Anita is standing fourth to the left of Srikar, Number of people
standing between Aruna and Anita 1s less than 3.

255 5) 3 TOS V0 9 OB &00.
98369, 9ed © a5 INMHO E5) 850769 sDOA LG
G .

(I) Sandeep 1s standing second to the left of Srikar. Only 5 people stand
between Srikar and the person standing at the extreme right end of the

line. Four people stand between Sandeep and Aruna.

256 5 A Bt TS0 H0A B G,
HOFTRE DG DB LIBT 116 0958 SHOH 350 &
DL DO 0HD OB &) B, H0AD HOOI
eE © QS HNMH QOB &) .

Options :
1. % 1
2.¥ 2
3. % 3

4. % 4

Question Number : 11 Question Id : 7856743132 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
O 0F DT°§eh

If n is a positive integer. what 15 the number of zeros at the end of n! ?

128 O SJT050 NI, 1! ©F NPT &OT DO
O0S

(I) 5*divides n! but 5° does not divide n!

0! &0 5% 2PA0A TR 0! &) 5° 2rNoCD.

(1) 37 divides n! but 319 does not divide n!

n! o 3% 2PAN0A TR n! & 310 2rN0N.

Options :

1.1

Question Number : 12 Question Id : 7856743133 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Data Sufficiency
OB 0F DO°§ed

What 1s the volume of the cube?
&3 Q0RO BNE). a1 DBITEI0 2)08H?

(I) The total surface area of the cube is 150 m%
&3 $D0 TINE) NOFLUSO T30 150 T.aN.

(I) The ratio of the length of the diagonal of the cube to the length of a
side of the cube is /3:1.

&8 050 TOE), DGO (Fe3e9) HOOD ZHBSHO AN

v3:1.

Options :
1.9 1
2. % 2
3. % 3

4, w4

Question Number : 13 Question Id : 7856743134 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
O 0F DO°§adeh



. ; 27x%48y%-2?
If x, y, z are real numbers with xy = 0. then find the value of ———
xXyz

e o 31gu3_,3
X,9,2 TR 0PI 1yz # 0 TR G0, L=

xyz
DN §0808.
(I) 2.
9 4= A2y

3

M) xyz >0

Options:

1.9 1

2. % 2

3. % 3

4, % 4

Question Number : 14 Question Id : 7856743135 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
O 0F DO°§adeh



What 1s the length of the side 4B n triangle ABC ?
(9ZDBO ABC S 4B &3 2DB0 SPET0H?

(I) AC =25cm
AC = 25 0. o).
(I1) £B = 90°

Options :

Question Number : 15 Question Id : 7856743136 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
OB 0F DO°§ed



What is the digit in the units place of the natural number n ?
&3 a7 DO n &S 288 TS0 &S) 08 O ?

(I) n 1s divisible by 3.

n RO 5 2rNoIDRA0O.
(I) n is not divisible by 4.

n OO 46 2rN0BDB.

Options :

Question Number : 16 Question Id : 7856743137 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
DT 0% DO 56



What 1s the value of the positive integer n less than 1097

109 %), 580797 &) QS sJ°Q DORS n DEND 0Ed?

(I) 9 divides n.

n oD 9 2rAN0A.

(II) 12 dividesn

n D 12 27N 0A.

Options :

Question Number : 17 Question Id : 7856743138 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
DT 0F DO 56



Is A, brother of B?

B %0 A AT

(I) B 1s a brother of A.
AD5) B 2,8 OB,

(IT) A 1s the mother of C.
COE A ).

Options :
1. % 1

2.9 2

Question Number : 18 Question Id : 7856743139 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
OT0F DO°§aeh



If 5 persons 4, B, C, D, E sitting in a row, who is in the middle?

A,B,C,D,E ©F 506 e3den 2,8 S80S 538 )0 008, HeiseS
€500) o7 Do) )?
(I) B, D are immediate neighbours of E.
E §18) 108)® BD &) &o.
(II) A 1sat one extreme end.

A28 ) DO DSBS &mm) .

Options :

4. 4

Question Number : 19 Question Id : 7856743140 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
DT 0F DO°§eh



If 4, B, C are three persons with different heights. who is tallest among 4, B, C?

DY DO EONS DB D8N 4, B, C O’ 95065 SPCHHO
DHE?

(I) A 1s taller than C.
4537 C&rasino.
(IT) B 1s not the shortest among 4, B, C.

4,8, COS Beah106 e a3 ehd 5C.

Options :

4. 4

Question Number : 20 Question Id : 7856743141 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
DT 0F DO°§eh



How 1s X related to 1?
Y& X 50 DS 0¢0eb ¢0 §er¢h?

(I) Yisabrother of X,
XO308), FOHA T,
(I) Xis the mother of Z.

Z 3308y, 66O X

Options :

1.1

Sub-Section Number : 2
Sub-Section Id : 785674347
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 21 Question Id : 7856743142 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving

QDo A FEN -

(a) Series L_%E‘&)@)

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HB% O (D)0 (HB TS DO 8O (©5T°0
B ©0Z0°0 HOOHN Do) Dereren 5008, 2.8 BeveS’
EAN0DS OE 0 NFTE BSST re30wrO) ) S0EN0D. €
O§Td) ST HHA0D FTOOD OIS T3S
000G,

PEN:40::LOT:

(1) 54
2) 62
(3) 76
(4) 80

Options :
1. % 1
2.9¥ 2
3. % 3

4. % 4

Question Number : 22 Question Id : 7856743143 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Problem Solving

QoD FEN-P

(a) Series Lfﬁm@)

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 SGE HO (DN O (HS IS’ DO B (98,07
B> 08070 DO DOWEO) NTTFEN §006Y. 28 8BS’
5000 OF 0 HTE BSS T 30T ) S0EN0D. e
O8T) BT HHA0D FOOD TS T3S
J*O00E.

LAKE :: MEAT : QIEX

(1) OEPI
(2) PEOI
(3) POEI
(4) OIPE

Options :
1. %1
2.9 2
3. % 3

4. % 4

Question Number : 23 Question Id : 7856743144 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Problem Solving

QoD FEN-P

(a) Series Lfﬁm@)

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 SGE HO (DN O (HS IS’ DO B (98,07
B> 08070 DO DOWEO) NTTFEN §006Y. 28 8BS’
5000 OF 0 HTE BSS T 30T ) S0EN0D. e
O8T) BT HHA0D FOOD TS T3S
J*O00E.

BEL: 90 % NI

(1) 765

Options :
1. % 1
2. % 2

3.# 3

4.¥ 4

Question Number : 24 Question Id : 7856743145 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Problem Solving

QoD FEN-P

(a) Series Lfﬁm@)

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 SGE HO (DN O (HS IS’ DO B (98,07
B> 08070 DO DOWEO) NTTFEN §006Y. 28 8BS’
5000 OF 0 HTE BSS T 30T ) S0EN0D. e
O8T) BT HHA0D FOOD TS T3S
J*O00E.

MANGO : 18 :: PRIDE :

(1) 20
(2) 24
(3) 26
4) 28

Options :
1. % 1
2.¥ 2
3.% 3

4. % 4

Question Number : 25 Question Id : 7856743146 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Problem Solving
QoD FEN-P
(a) Series Lfﬁm@)

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 SGE HO (DN O (HS IS’ DO B (98,07
B> 08070 DO DOWEO) NTTFEN §006Y. 28 8BS’
5000 OF 0 HTE BSS T 30T ) S0EN0D. e
O8T) BT HHA0D FOOD TS T3S
J*O00E.

—
-
h
oo
_hn
[a—
I

(1) 9
(2) 10
3) 11
4) 12

Options :
1. % 1

2.8 2

3.3

4. % 4

Question Number : 26 Question Id : 7856743147 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Problem Solving

QoD FEN-P

(a) Series Lfﬁm@)

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 SGE HO (DN O (HS IS’ DO B (98,07
B> 08070 DO DOWEO) NTTFEN §006Y. 28 8BS’
5000 OF 0 HTE BSS T 30T ) S0EN0D. e
O8T) BT HHA0D FOOD TS T3S
J*O00E.

KNIP : PINK :: MADAM :

(1) MDAAM
(2) MADAM
(3) MAADM
(4) MAMAD

S e

Options :
1. % 1
2.¥ 2
3.% 3

4. % 4

Question Number : 27 Question Id : 7856743148 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Problem Solving

QoD FEN-P

(a) Series Lfﬁm@)

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 SGE HO (DN O (HS IS’ DO B (98,07
B> 08070 DO DOWEO) NTTFEN §006Y. 28 8BS’
5000 OF 0 HTE BSS T 30T ) S0EN0D. e
O8T) BT HHA0D FOOD TS T3S
J*O00E.

6EIM : 14MEU :: 2BFQ :

(1) 10IXC
(2) 10IYE
3) 10INY
4) 10JZC

Options:
1. % 1

2.8 2

3.+3

4, % 4

Question Number : 28 Question Id : 7856743149 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving

QDo A FEN -

(a) Series L_%E‘a)@)

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HB% O (D)0 (HB TS DO 8O (©5T°0
B ©0Z0°0 HOOHN Do) Dereren 5008, 2.8 BeveS’
EAN0DS OE 0 NFTE BSST re30wrO) ) S0EN0D. €
O§Td) ST HHA0D FTOOD OIS T3S
000G,

QOMK : IGEC :: XVTR :

(1) TSRQ
(2) PMLK
(3) PNLI
(4) POKI

Options :
1. % 1
2. % 2
3.3

4. % 4

Question Number : 29 Question Id : 7856743150 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QDo A FEN -
(a) Series L_%EEDE’_))

In the questions 21-30, each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HB% O (D)0 (HB TS DO 8O (©5T°0
B ©0Z0°0 HOOHN Do) Dereren 5008, 2.8 BeveS’
EAN0DS OE 0 NFTE BSST re30wrO) ) S0EN0D. €
O§Td) ST HHA0D FTOOD OIS T3S
000G,

Ho)slishdl )ite)

(1) 32
63
@ 32
54
(3) 28
54
“4) 28
63
Options :
1.91
2. % 2

3.# 3

4, % 4

Question Number : 30 Question Id : 7856743151 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
QoD -
(a) Series L_%E‘;UEA)

In the questions 21-30, each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 SGE HO (DO (HS IS’ Boh B (98T
B ©0Z0°0 SHO0H HOPEO) DeOFEFEN 5008, 2.8 BeveS’
50D ©E80 HFE BSSIT 30w ) S0EN0D. €
o) ST HHA0D PTIOD TS T3S
SUReloIn]e]2)

IC 65 BPR::

Options :
1. % 1
2. % 2
3.¥3

4. % 4

Sub-Section Number : 3



Sub-Section Id : 785674348
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 31 Question Id : 7856743152 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving
Qo) §EN -
(a) Series L_%E‘;DE_D

Note : In questions numbered 31 to 35 pick the odd thing out

He0dE : 31 OB 35 S6H H0 (HIOS HOFOIO
00TVHW.

P redl B et AR 6 LT

¥ 1348

(1] vl
2] 2 $axd?
(3) x24+245

4) x>+5x+6

Options:



Question Number : 32 Question Id : 7856743153 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

Qo) §EN -

(a) Series L_% €200

Note : In questions numbered 31 to 35 pick the odd thing out

B8 @ 31 OB 35 8% Ho (DN OS HOFOIO
H00HAW.

BEAR. MILE. BRING, DANCE. HORSE. PRIZE

(1) MILE
(2) BRING
(3) HORSE
(4) PRIZE

Options :
1. % 1

2.9 2

Question Number : 33 Question Id : 7856743154 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving

Qo) §EN -

(a) Series L_% A (Y

Note : In questions numbered 31 to 35 pick the odd thing out

B8 & 31 OB 35 8% HO (D) 0S HOFOO
HO0THHW.

EELLERE

(1) F
&y L
(3) P
4 U

Options:

Question Number : 34 Question Id : 7856743155 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving

Qo) §EN -

(a) Series L_% A (Y

Note : In questions numbered 31 to 35 pick the odd thing out

B8 & 31 OB 35 8% HO (D) 0S HOFOO
HO0THHW.

1,310, 21, 64, 129,535,777

1) 10
3 )

3) 356
4) 129

Question Number : 35 Question Id : 7856743156 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving

Qo) §EN -

(a) Series L_% A (Y

Note : In questions numbered 31 to 35 pick the odd thing out

B8 & 31 OB 35 8% HO (D) 0S HOFOO
HO0THHW.

iYL, PLTaTe Tas E25 030 143

(1) 127
2) 123
(3) 119
4) 117

Options:

Sub-Section Number : 4
Sub-Section Id : 785674349
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 36 Question Id : 7856743157 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Problem Solving
QoD FEN-2P
(a) Series L_%E‘E.DE’_D

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 ADOA 45 SO (1O (%) 28 P IS
QONATA) DTN, 8 A0ONITFD)  HD0D)
HOOHIH DT TTOS PO SrO00B.

331 25,20 16E 14E 11l 10
- g
(1) 14

@) 13%

(3) 133

4 1

(4) le

Options :

1. % 1

2. % 2

3.% 3

4.4 4

Question Number : 37 Question Id : 7856743158 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Problem Solving
QoD FEN-2P
(a) Series L_%E‘E.DE’_D

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 ADOA 45 SO (1O (%) 28 P IS
QONATA) DTN, 8 A0ONITFD)  HD0D)
HOOHIH DT TTOS PO SrO00B.

8, 24. 48, 120, 168, 288,

(1) 296
(2) 324
(3) 348
(4) 360

Options :
1. % 1
2. % 2

3. % 3

4.4 4

Question Number : 38 Question Id : 7856743159 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
HOGHM NATTTOS TPOX J*O0I0A.

10,5; 13, 10, 16,20, 19,

(1) 22

Options :
1. % 1
2.9¥ 2
3.% 3

4. % 4

Question Number : 39 Question Id : 7856743160 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
HOGHM NATTTOS TPOX J*O0I0A.

AZBNTCR, . MLE]

(1) EQ
(2) PD
(3) P.E
4) QE

Options :
1. % 1
2.¥ 2
3. % 3

4. % 4

Question Number : 40 Question Id : 7856743161 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
DOHIFD)  FEYTIOD. © DOHITFI) K00
HOGHM NATTTOS TPOX J*O0I0A.

248,39 27, 5,235,125,

(1) 10, 100, 1000
(2) 884,512
(3) 9.81.216
(4)  7.49,343

Options:
1. %1
2. % 2

3.# 3

4.4 4

Question Number : 41 Question Id : 7856743162 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
HOGHM NATTTOS TPOX J*O0I0A.

1 2 1112 223132
63 3 SRR 3
1 1
2
1
(2) 2z
6
3 1
@ 1
2_
10
Options :
1. % 1
2.¥ 2
3.% 3
4. % 4

Question Number : 42 Question Id : 7856743163 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
HOGHM NATTTOS TPOX J*O0I0A.

4, 10, 18, .40.54. 70

(1) 28
(2) 30
(3) 32
4) 36

Options :
1.9 1
2. % 2
3.% 3

4. % 4

Question Number : 43 Question Id : 7856743164 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
HOGHM NATTTOS TPOX J*O0I0A.

1,7, 25,79, 241, ,2185
(1) 415
(2) 727
(3) 1027
(4) 1893

Options :
1. % 1
2.9 2
3.% 3

4. % 4

Question Number : 44 Question Id : 7856743165 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
HOGHM NATTTOS TPOX J*O0I0A.

12, 40,90, 168, . 432.630. 880
(1) 194
(2) 212
{3y 272
(4) 280
Options :
1.8 1
2. % 2
3.% 3
4. ¥ 4

Question Number : 45 Question Id : 7856743166 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QoD §EN-TTPE
(a) Series L_% £

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
DO NDSTTTOS RO JrO0I0R.

6. 24, 120. 336, 1320. 2184,

(1) 2730
(2) 3360
(3) 4086
(4) 4896

Options :
1. % 1
2. % 2

3.# 3

4.9 4

Sub-Section Number : 5
Sub-Section Id : 785674350
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 7856743167 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Question Numbers : (46 to 48)
Problem Solving

QDN EEN-T D

(b) Data Analysis
S&0% DINED

The following table gives the profits ( n crores of rupees) on four items P, O, R, S
manufactured by a company during the financial year 2018-19 to 2022-23. Based on
the mformation answer the questions from 46 to 48.

2308 00a3¢5 100 2018-19 DOG 2022-23 5B, 2.8 0 TNE), Tenth
&SIREN P, 0, R, § ©F SIS P (0 rarohes) & (806
HEES 9:93630 BONRNO. & NP0 STFBOM (991N 46 HOG 48

BB QDeIPGFeN Fad SO,
\ Financial Year | s | =« -
fj—:ﬁgg"» @Ogjﬁﬁgé(} & 4 4| 2 o
Items \ = = 88 g
ﬁ @:% \', Q’é{j {a _)J ] -l ol ™ (|
P 275 | 300 | 350 | 325 250
Q 425 | 400 450 (475 450
R 125 | 175 |225(250 | 300
S 375 | 425 |350 (450 | 625

Sub questions

Question Number : 46 Question Id : 7856743168 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving

DD SEN-

(b) Data Analysis
ST 0% BN

The percentage increase in the profit on the item R in the financial year 2020-21 over
the year 2018-19 1s

2018-19 & 8% 1055308 2020-21 091306 €551 R 2 SIS €850 ¢
AOMHAO Fe40

Options :

Question Number : 47 Question Id : 7856743169 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving

DD SEN-

(b) Data Analysis
QOT0F D BoAED

In the financial year 2019-20. the profit on the item Q is what percent of the total
profit on 4 items in that year?

H0SBIBSNSD T GSIRNOD SN TS0 1S N0

-

2019-20 &o@%gdﬁmﬁ @é;@ Q D IS Py, el
?@ a

F°eho)).

2
1) %13
9

Question Number : 48 Question Id : 7856743170 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
DD SEN-

(b) Data Analysis
ST0% DINED

In the given period. the item that has recorded highest profit 1s

D) TO IO 68508 erara) SIPE TS SIS O 7

Sub-Section Number : 6
Sub-Section Id : 785674351
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 7856743171 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Question Numbers : (49 to 51)



Problem Solving

QoD EEN-T

(b) Data Analysis
ST 0% BN

The Pie-Chart given indicates the expenditure of a household on six heads 4, B, C, D,
E, F. Based on this information answer the questions from 49 to 51.

& 1500 2 B0 28 HEN0D0 6 HDO (1808 T PHIOD

0O, & DIrrdo STEOT 49 DOG 51 HOK ) (F)O%
NMEANIAWY]

nA 80" =B 50" «C 70" «D 66" wE 64" #F?

Sub questions

Question Number : 49 Question Id : 7856743172 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

QDN LEN-TPD

(b) Data Analysis
S0 BN



The expenditure on the heads 4 and C together 1s what percent of the total
expenditure.

08B0 DI, A HOCHY C DO (8065 TOD B DO TS50 2

(1) 37—

392
() 393

2
(3) 41—

4 ¥3

Options :

Question Number : 50 Question Id : 7856743173 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

QoD EEN-T D

(b) Data Analysis
0% DINED



If the total expenditure 15 Rs.150000, then the expenditure on the head F, i rupees. 1
00 PE) B, 150000 900, F HE) 2 9008 P& (6. ©F)

(1) 12500
(2) 15000
(3) 17500
(4) 18000

Options :

Question Number : 51 Question Id : 7856743174 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

QDN AEEN- T

(b) Data Analysis
0% DINED



If the expenditure on the head B 1s Rs.90000 then the difference of the expenditure
on heads E and F. in rupees, 1

DA B 3 DAY G, 90000 £ ©ONB, E SHO0KN F NN TR HEIO
B30 (6r.08)

(1) 57500
(2) 59300
(3) 60700
(4) 61200

Options :
1. % 1
2. % 2

3. 3

4. ¥ 4

Sub-Section Number : 7
Sub-Section Id : 785674352
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 7856743175 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (52 to 55)



Problem Solving

QoD EEN-T

(b) Data Analysis
ST 0% BN

The Venn diagram shows the number of students who read news papers
A, B, C n a hostel having 800 students.

Based on this information answer the questions from 352 to 55.

800 DN M0 28 SIS K)aT0 & 4 B, ¢ T HSEON O
AT 5D HOP§D 88 1506 B VB0 AFDN0A.
& QP TE0 STTEOM 52 DOA 55 HE (10 (33 ©F) NeIPETIeiN.

€

Sub questions

Question Number : 52 Question Id : 7856743176 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

QoD LEN-TP D

(b) Data Analysis
S0 BN



The percentage of students who read a single newspaper in the hostel i

&5 3098 13570 & AT 28 TT HBED SRS IOF DT DO Tes0

1
(1) 82—

Options :
1. % 1

2.¥ 2

Question Number : 53 Question Id : 7856743177 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

QDN SEN-

(b) Data Analysis
ST 0% DBNED



The number of students who read at least 2 newspapers is
Q00 DO T JSBEOD TIOD AT ;DO HOPS

(1) 170
) 13
) 660
) 140

—
]

-

2
3

—

(4

Options :

Question Number : 54 Question Id : 7856743178 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

QDN AEEN- T

(b) Data Analysis
ST 0F BN



The number of students who read paper A or paper B or both but do not read paper C
1S

TT @8N A B B B 30 9eehedr € A 3R deidey
N0

(1) 540
(2) 440
(3) 340
(4) 280

Options :

Question Number : 55 Question Id : 7856743179 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

QoD EEN-T D

(b) Data Analysis
S 0% DINED



The ratio of the number of students who read exactly 2 newspapers to the number of
students who do not read any newspaper 15

DDIBOT DO T HBEOD 0D DO HoP5FY, o T
S WA DO HOP R e Vi)

(1)

(2)

~1 ] o |—1~||—‘1~ ~a| o~
W= | =3

(3)

13
@ 1z

Options :

4.v 4

Sub-Section Number : 8
Sub-Section Id : 785674353
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 7856743180 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (56 to 60)



Problem Solving

QDN FEN-TS

(¢) Coding and Decoding Problems

50N, AFAOR DaNOLEN

The letters of English alphabet A. B. C. ..., Z are written around a circle in clock wise
order and are given codes as 1. 2, 3. ..., 26 respectively. Now a letter with code even
number is coded as the 3% letter that comes after it. While a letter with code odd
number 15 coded as the third letter that comes behind it. For example. a letter with
code 8 1s coded as the letter with code 11 and a letter with code 19 is coded as the letter
with code 16. For decoding the reverse process is adopted.

Using the coding and decoding process answer the questions from 36 to 60,

2,8 39650 F02B 5036 &0l ©F 8 SFOS 0T A, B.C., ..., Z
O |70 T8 HHIT 1,2.3, ..., 26 @R 5B O B 5ca0 20008,
209 D0 03 &8  EONNE 9 TR) TR ST 18 S8 @860
T, B0 A0 56 T 0NN @08 o), TR B B o) @
9§ 50T §6& DONAR0E. GTTTIEIN, 82 §8& DOHT @ TR 11 §6
(o) @8 $0 TP, O 19 A 56 ™ o) 9§ T°R) 1656 ™ §& DON0
20006, & FA0N TANTAE VS5 HOB ©HNO0T .

£ QrT0 @O0 56 DO 60 ISR (10 %) OF) DITPTITOad).

Sub questions

Question Number : 56 Question Id : 7856743181 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QDN FEN-TS

(¢) Coding and Decoding Problems
§A0R, 5B00 SO

The word TIGER is coded as

TIGER @ JQ) 1808 PO §& Dardh.

(1) WLDHU
(2) WFDBU
(3) QLJHO
(4) QFIBO

Options :

Question Number : 57 Question Id : 7856743182 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QDN FEN-TS

(¢) Coding and Decoding Problems

§A0R, 5B00 SO

The word BONUS 1is coded as
BONUS 330&) §& H0

(1) ERKXP
(2) YLKRV
(3) YRQXV
(4) ELQRP

Options :

Question Number : 58 Question Id : 7856743183 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving

QDN FEN-TS

(¢) Coding and Decoding Problems

50N, AFAOR DaNOLEN

The word that 1s coded as PRIME 1s

PRIME ™ §& DO D0
(1) SUFIB

(2) MOLGH
(3) SOFGB
(4) MULPH

Options :
1.9 1
2. % 2
3. % 3

4. % 4

Question Number : 59 Question Id : 7856743184 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

QDo §EN-T

(¢) Coding and Decoding Problems

500, AR JsNOseN



The word that 1s coded as DUSTY 1s
DUSTY™ §& D003 D50

(1) AXVQB
(2) GXPQV
(3) GRPWV
(4) ARVWB

Options :

Question Number : 60 Question Id : 7856743185 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
QDN LEN -

(¢) Coding and Decoding Problems

§°Q00, AA0R HsNH5EN



The code for the word PENCIL 1s
PENCILG30E), §&

(1) MHKFLI
(2) SBQZFO
(3) MBKFLO
(4) SHQZFI

Options :

Sub-Section Number : 9
Sub-Section Id : 785674354
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 61 Question Id : 7856743186 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
Qe eV -

(¢) Coding and Decoding Problems

§A00, A0 HsHOseN



Using the coding and decoding process answer the questions from 61 to 65.

QDAY PG00 SO0 61 HOG 65 SO0 e (F)ON
NNV ARNINW

[f VACCINE 15 coded as UZBBHMD. then the code for FEVER 1s

VACCINE & UZBBHMD ® 3 ), FEVER &) §6 9¢30

—_

(
2
3
4

) EDUDQ
) DCTCP
) EFVFS
) EFVFS

Options :

Question Number : 62 Question Id : 7856743187 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving

QDN FEN-TS

(¢) Coding and Decoding Problems

50N, AFAOR DaNOLEN

Using the coding and decoding process answer the questions from 61 to 65.

QAR AP I0 SFEOmr 61 NHOGB 65 HOR O (HFOR
NNARNINW

If RECTANGLE is coded as TGEVCPING. then in the same code language the word
RHOMBUS s coded as

RECTANGLE & TGEVCPING T §8 TN, &7 §6 27ae5’ RHOMBUS G3n%),
56

() TIOQDWV
) TIQNDWU
3)  TIQODWU
) TIQOEWU

Options :
1. % 1
2. % 2
3.3

4. % 4

Question Number : 63 Question Id : 7856743188 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving
QDo §EN-T D

(¢) Coding and Decoding Problems

500, AR HsND5eN

Using the coding and decoding process answer the questions from 61 to 65.

QBN Nrrdo erdomr 61 HoG 65 SO e (%)%
N ARNINW

If HPRFQL 1s decoded as EMOCNI. then which word 1s decoded as HFQDQLI ?

HPRFQL & EMOCNI T @ §6 TRd)¢d, HFQDQLI ™ 386 Tobhadad
N0
(1) DBMZMHE

(2) DCNANIF
(3) ECNANIF
(4) FDOBOIG

Options:

3.3

4. % 4



Question Number : 64 Question Id : 7856743189 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
QDo §EN-T

(¢) Coding and Decoding Problems

500, AR JsNOseN

Using the coding and decoding process answer the questions from 61 to 65.

QILABN VPG srdom 61 HOG 65 SO e (%)%
NSVIARNINW

In a certain code language: if GANG 1s coded as 7157 and MAZE 1s coded as 4185,

then MANAGE 1s coded as

23S E6 ¢ GANG & 7157 SO0 MAZE &) 4185 s 6 TS .

MANAGE G3n%), 56
(1) 415175

(2) 485875

(3) 418178

(4) 415145
Options :

1.1

2.8 2



4. % 4

Question Number : 65 Question Id : 7856743190 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving
QDN FEN-TES

(¢) Coding and Decoding Problems

300, AFA0N Hs0D5eD

Using the coding and decoding process answer the questions from 61 to 65.

QDAY PG00 SO0 61 HOG 65 SO0 e (F)ON
NNV ARNINW

In a certain code the words BERLIN and PERSON are coded as 190 and 270
respectively. Then in the same code the word LISTEN 1s coded as

2,558 &6 & BERLIN <005 PERSON ©a 50T 190 0050 270 T
§6 TN, @3 §6 ¢ LISTEN 0w §6

(1) 240
(2)

(3) 260
(4)



Options :

1. 8 1

2. % 2

3.& 3

4. ¥ 4

Sub-Section Number : 10
Sub-Section Id : 785674355
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 66 Question Id : 7856743191 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
Qo) §EN -t CI

(d) Date. Time and Arrangement Problems
B0, DNANO, @sNOE HaNOEN

Which day of the week falls on 20.06.2024?

20.06.2024 & B0 &) B2 €95)e000?

(1)  Wednesday 20O G0

(2)  Thursday SO0

(3)  Sunday Ziarnlele)

(4)  Monday AP O0
Options :

1. 8 1



2.9 2
3. 3

4. % 4

Question Number : 67 Question Id : 7856743192 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

Qo) SEN -

(d) Date, Time and Arrangement Problems

B0, DDONO, @NOEE DLW

The time in a clock after 4.30 pm., when the angle between the hours hand and
minutes hand is 75° for the first time is

RPODOLE0 471030 . © edSdaTed, HAOTFEOS HOL® SOV (HOOKN
DAL SNV 50655 5690 75° 0T I B0EE 0SB0 SR
Qe OO

8
1) o 4.32—pm

o) o, 4.35%;):1‘1

3
G) o 457—pm

pgi L
@ o, 459—pm

Options :



2.¥ 2

4. % 4

Question Number : 68 Question Id : 7856743193 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving
QoD §EN -2

(d) Date. Time and Arrangement Problems
B0, DNANO, @sNOE HaNOEN

A clock loses 5 seconds for every one hour. The time is corrected at 6 am. When the
time in the clock 1s 10 am next day, the correct time 1

2,8 HBOIPE0 (D6 H0BK) 5§ VEDNO Terd) §SHM00. & B2 &Koo
6 (0O% KAOTE0 HOTOHAAIO. AACIFE0S éhrs &
GQ0H0 10 10N AN AT eCNO o)Oeh?

- 1
) :%.9.513&1?1

) co. 9.57§mn

. Z.
3) @.9.58;&11@

1
@) r‘f—@.‘).STEmn

Options :

1.



#® 1
2.9 2
3.# 3

4. % 4

Question Number : 69 Question Id : 7856743194 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

QoD §EN -2

(d) Date. Time and Arrangement Problems

B0, DNANO, @sNOE HaNOEN

Pointing at C, Mr.A said to B. “She 1s my son’s mother’s mother-in-law”, Then A 1s
related to C as

CAUPDAT B & A ‘a3 7 §0a R 8 eoéh MO D). )¢
CH A o DO H0DOTA) IO &™) (.

(1) Mother ¢¢)

(2) Father ¢50((

(3) Son Huedrtdcd
(4) Daughter 57

Options :
1. % 1

2.1 2



3.3

Question Number : 70 Question Id : 7856743195 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

QoD $EN -

(d) Date. Time and Arrangement Problems

B0, NN, eD0E DN

A train started from station A. It reached station B. 15 minutes late and the next station
C 11 mimutes late and finally reaches station D with another 23 minutes late at 4.30
pm. Then its scheduled arrival time at station D 1s

VA A DHOB 2EHEN TOS 2.8 TEN YD B 15 Q.00 SONS0mar
S00 T SIS VD € O 11 Q. 0 SON0MSF DOSO.
DEDSGT & Ten Wil D & DOZRT 23 Q.60 8OO 4 (10.30 Q.08
TOXEINS, €3 TN, VAR D A TOOHF, AT H:00DO0 0e ?

1) &7.5.19pm

(1)

2) &r4.53pm
(3) r4.07 pm
(

4) . 341 pm

Options:
1. % 1
2. % 2

3. 3



4.4 4

Question Number : 71 Question Id : 7856743196 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

Qo) §EN -G

(d) Date. Time and Arrangement Problems

B0, DNAN0, @NOE HDNDEN

A person P arrived to a meeting 15 minutes before B's arrival who came 12 minutes
before the arrival of C who came 15 minutes late to the meeting. If the meeting 1s
scheduled at 10.10 am. the time of the arrival of P at the meeting is

258 DSTRITRE 15 2.0 8O0 DDEW) € E) 12 Q.00 DO
DT BET). 15 Q.00 SNOCHT P DB, 8 Dedrad AT0eb eD0HO
&S00 &.10.10 Q.00 ©0NDYE, DIPd YerR) P BATH) AadANO

1) &.10.12am

7

)

) ¢.10.18am
) €.10.47 am
)

(
(
3
4) &.11.13am

Options :
1. % 1
2.9¥2
3. % 3

4. % 4



Question Number : 72 Question Id : 7856743197 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
Qo) §EN -t CI

(d) Date. Time and Arrangement Problems

B0, DNANO, @sNOE HaNOEN

Five students P, Q. R. S. T m a classroom, facing blackboard are sitting on a bench.
Qs sitting at the extreme right. T and S are sitting between P. R and R. Q respectively.
Who 15 sitting in the centre?

2,8 SOHS (OS5 506 rsden P.Q, RST e dO 208 iray
O™ 28 Tow D SFDIITD. Q A F) @0 DSGT
Sty . T, S &0 S P, R DO R, Q© DE§ St ym) .
1S BFEIS), D50 S ?

oo
= R = B s B

Options :
1. % 1
2. % 2

3. 3

4.¥ 4

Question Number : 73 Question Id : 7856743198 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
QoD §EN-T°CI

(d) Date. Time and Arrangement Problems
B0, ANONO. 95005 DN

If we define m 7 n = 2m?* + 3n? for all positive integers.
then(372) 7 1=

E:)Oﬁ @BQ K)D%D;G’_ﬂ ?n,ﬂ'&)% m/n= 2’”12 + gng 0k fs-}(jﬂfi}?g.
(372) M=

(1) 681
(2) 821
(3) 7921
4) 3531

Options :

Question Number : 74 Question Id : 7856743199 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QoD §EN - )

(d) Date. Time and Arrangement Problems
B0, DNANO, @NOE HNOSEN

S o 2 2 : — w o,
Ifa®b =a®+ b*anda () b = ab, then 2830(203)

s o o g e o y (2893)8(203) _
a®b = a® + b2 D00 a O b = ab @OV, —r—

203
) =g
205
@) =g
207
(3) =g
211
) g
Options :
1. % 1
2.9 2
3. % 3
4, % 4

Question Number : 75 Question Id : 7856743200 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QoD §EN - )

(d) Date. Time and Arrangement Problems

B0, DNANO, @NOE HNOSEN

Let m, n be any two positive integers. Define m X n=m? + n* — mn then

((2x3)x5)x4=

m,n ) () aPQ 0PN ONY, m X n=m>+n?—mn T
NRAR) (2x3)x5)x4=

Options :
1. % 1
2. % 2

3. 3

4.¥ 4

Mathematical Ability

Section Id : 78567447
Section Number : 2
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 75

Number of Questions to be attempted : 75

Section Marks : 75

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 785674356
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 76 Question Id : 7856743201 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@0 08eded mraQed

(32)3 (72)3 (27)2
(12) ) (9)4

=2%3F = 40 +5p =

Options :

1. % 1

2.



W )
3. 3

4. % 4

Question Number : 77 Question Id : 7856743202 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@0 08(e5ed mraQed

If x*V% = (x. V}E)x and x # 0,thenx =

3 : ad
0 By x5V = (x. mr 290N M) D, x =

(1 8
3
(2) 16
9
(3) 32
81
(4) 64
27
Options :
1. % 1
2. % 2
3. %3
4.9 4

Question Number : 78 Question Id : 7856743203 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@0 08eded mraQed

It 24 =38 =4C thei B ¢ € 1A =

2A=3B=4C ®0N&. B:C: A=

-2
[

(1)
() 3:4:
() 4:3:
)

[ S o (S

-2
Fa
i

Options :

1. % 1

Question Number : 79 Question Id : 7856743204 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@08 eded fraQ ged



60 Litres of mixture contains milk and water in the ratio 7 : 3. Then the
number of litres of mulk to be added to the muixture so that the nulk and water
ratiowillbe 9: 2 15

60 O3 IS 760, D0y 7:3 M)A Sy, & )&
9:2 3erS & MFTASE E0NSIOND aren (OIS

(1) 39

2) 28

(3) 42

4) 48

Options :
1.9 1
2. % 2
3.% 3

4. % 4

Question Number : 80 Question Id : 7856743205 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@ 08eded mranQged



V20 +2v40 - 2V24 - 2V60= (Vi + [y —VZ) = x +y -z

(1) 20
(2) 8
3) 10
4) 6

Options:
1. % 1

2.¥ 2

Question Number : 81 Question Id : 7856743206 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@08 eded fraQ ged



If x=342V5,thenx?—6x+ 39 =

x =34 2V5 @I, x% — 6x +39 =

(1) 40
2y 30
(3) 50
4) 20

Options :

1. % 1

2. % 2

3.3

4, % 4

Question Number : 82 Question Id : 7856743207 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
29 08eded PO ged



The largest mntegral value of n  such that 12" divides (94)! is
(94)! & 12" 2PNOT DO 1 80 A SIB (105 J°T08 DN

1) 4
Q) M3
3) #
(4) 45

Options :

Question Number : 83 Question Id : 7856743208 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@08eded s ged



Let P, Q are integers such that 0 < P,Q < 9. If the 7 digit number 7P5345Q
15 divisible by 88. then 2P + 3Q =

0<P,Q <9eBNGOT P,Q ) o a8 0P FODTDW.
7P53450 ©® 7030 H0PS 88 DedrNoRS 2P +3Q =

(1) 18
@ 1
3) 30
@ 36

Question Number : 84 Question Id : 7856743209 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
29 08eded PO ged



If the numbers 98. 134. 170 leave the same remainder 8 when divided by a
positive mnteger n. then the largest value of n 1s

08,134,170 @ DO &8 (3 aJ°Q DO 1 Ted 2FNOD YD
2,8 300 8 & A IS n T3NEY, (10 DN

(1) 3
2 9
3) 18
4 36

Options :

1. % 1

2. % 2

3.¥3

4. % 4

Question Number : 85 Question Id : 7856743210 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@ 08eded fraQ sed



The dimensions (in cm) of the largest square tile that can be used to pave the

floor of a room of dimensions 4.96m » 1.86 m. are

496 2. x 186 . Sosen o 28 10 IO OO
m;vﬁomri (0 £3C0a) Taex TR0E) Fereden @050

(1) 5656
(2) 58x58
(3) 61x6l
4) 62%62

Question Number : 86 Question Id : 7856743211 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@08 eded fraQ ged



(66 - 6-0-

m 1
50
@ 3
50
(3) 343
37000
4) 687
74560
Options :
1. % 1
2.9¥ 2
3.% 3
4, % 4

Question Number : 87 Question Id : 7856743212 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@0 08eded mraQed



(7 E I?+J?+v?
N

\
1++27
o i
2
2 1+v26
2
. 1++/29
3 — -
2
1++/31
gy ek
2
Options :
1. % 1
2.8 2
3.¢3
4. % 4

Question Number : 88 Question Id : 7856743213 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@0 08(e5ed mraQed



. 1480 1130 960 610 .
Ascendimg order of e 15

! r

13 =A% OF

1480 1130 960
17 ' 13 ' 11

!

.f“ e ANEY 0T ($e0

610 960 1130 1480
Q) L & Gl . a1

.. 960 1480 610 1130
@ war T B

1130 1480 610 960
e TR T AT

1480 1130 960 610
(4) 17 33 11 - 7

Options :

Question Number : 89 Question Id : 7856743214 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@ 08eded mranQged



If l<x<m<y<n<z<t, then

l<x<m<y<n<z<t 0N,

(1) (x—-t)y-Dn—z)(m—-1t)=>0
2 (t-DEz—-y)h—-m)(y—x)<0
3) (t-Dx—-z)(n—y)<0
@ (-2)n-t)(1-y)>0

Options :

Question Number : 90 Question Id : 7856743215 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@08eded s ged



In an election contested by A and B. 5% of the voters did not cast their votes.
A won the election by securing 51% of the votes polled with a majority of 7600
votes. The number of votes obtamned by B 1s

A $HO05) BEY SFEST S 2,8 DRSS 5% 4,630 63 4,60 575035
AATFNODNEBED. FBS 4.0 A, 51% 2,8 0O Ty 7600
5,8 3033565 FPOOTPCR. 95)C8 B FOO &8 H0Rg

(1) 186200
(2) 213800
(3) 196000
(4) 198000

Options :
1.4 1
2. % 2
3.% 3

4. % 4

Question Number : 91 Question Id : 7856743216 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
908He3 0 céb



The pass mark in an examination 1s 36%. A candidate got 17 marks and failed
by 10 marks. The maximum marks in the examination are

2,8 508 S &DONHOR FOTPE 1 SFH)EN 36%. 2.8 92550 17
SPERON FO6 10 SFEROS OO T, @) & HOE S

HOINESVIOVISY
1) 70
2) 75
(3) 80
4) 85
Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 92 Question Id : 7856743217 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
29 08eded PO ged



A person sells two apartments each at Rs.7.5 crores. If he makes profit of 25%

on the first and 25% loss on the other. what 1s the final out come of this
transaction?

&8 3358 Do @ard 08 oD 2.8, EF. 7.5 §& T
2. @A FNHE TAR 25% €250 HOOMN DOBITA R
25% S0 H R, & FTTAS D30 HOS0 0 ?

(1) 625%profit  6.23% €750
(2)  5.00%profit  5.00 % erg0
(3)  5.00% loss 5.00% 5500

(4)  6.25% loss 6.25% 3810

Options :
1. % 1
2. % 2

3. % 3

4.4 4

Question Number : 93 Question Id : 7856743218 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
29 08eded PO sed



A merchant purchases 15 pens for Rs.1200 and sells 12 pens for Rs.1500.
Then the percentage of the profit he gets 1s

2,8 3570 15 800 ©cd) G, 1200050 §Q), 12 §00 0 &r.1500
%) 9B, @eh(8) PO eFEFH0

3
(1) 521
(2) 54E
6
1
(3) 561
4
(4) 585
Options :
1. % 1
2. % 2
3.¢3
4. % 4

Question Number : 94 Question Id : 7856743219 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
29 08eded PO ged



Three persons A, B and C started a partnership business by investing Rs.10
lakhs. Rs. 15 lakhs and Rs.18 lakhs respectively for 8 months, 9 months and 6
months. The share of A m the total year end profit of Rs.32.30 lakhs (in lakhs
of rupees) 1s

S 95500 A, B, € 0 28 &eB T5POR) ST GF. 10
O 00, 150§ o0, 3. 18 08 © DEDDHO & 230800 SEIT 8
DO, 9 TOEN DO 6 VOO oJEN 00, D0 YT 0eh €250
67, 3230 050 & A T rer (67 080 oF)

1 8

2) 95
3) 10
4 18

Options :
1.9 1
2. % 2

3.# 3

4. % 4

Question Number : 95 Question Id : 7856743220 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@ 08eded fraQ sed



A and B start a business jointly. A mvests Rs.16000 for 8 months and B remains
3 : i ; 2

in the business for 4 months. Out of fotal profit. if B claims : of the profit, then
the amount invested by B (in rupees) is

A HBOD B O 2,8 e F5r0) (30200 0. A édd VDA
Gr. Rs.16000 O 8 TON VEPDRT 0T, HOAN B

TEPE0S 4 T SHTTD.IE0 erefoeS', B OBy arer 2 &
08 P00, B DEVAAT DN Jno (B, o)

(I) 12800
(2) 11900
(3) 13600
(4) 10500

Options :

1.91

2. % 2

3.% 3

4. % 4

Question Number : 96 Question Id : 7856743221 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
29 08eded PO sed



Two pipes A and B can fill a tank mn 15 miutes and 20 minutes respectively.
Both the pipes are opened together but after 4 minutes, pipe A 1s turned off.
Then the total time required to fill the tank is

DO A, B D000 2.8 €705 & SHAT 15 Q. €0, 20 . O o
(10a3. DO H0NOD 2BT0 BONN R, DO A A 4 Q. ©
SR SNV 0. YD, & P05 DOGETAE HTE DDADO

1) 10 min 20 sec 109. 20 Q.

(

(2) 11 min 45 sec 119.45 Q.
(3) 12 min 30 sec 123.30 Q.
(

4) 14 min 40 sec 14 9. 40 Q.

Options :
1. % 1
2. % 2

3.# 3

4.4 4
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Two pumps A and B can fill a tank respectively in 30 min. and 60 min.
independently and a drain pipe C attached at the bottom of the tank can drain
a full tank of water in 120 min. When the tank is empty all the 3 pumps A. B.
C are opened at 9.30 am and after few minutes pipe C 1s closed and A and B are
continued. If the tank 1s filled at 9.51 am. then the time at which pipe C 1s
closed 1s

BOCH DOJYEN A HOCH B €0 BIAT™ 2.8 e S & 3™ 30,
60 ATOES A0 KO OO DS 3K M &) ¢ g7 e
DO N0 € F0™ JoBS A S O 120 VoS gre
DO, SB0NO 930 Q. % S OT S1ID SHE
20N A, B, C ©cd) (200200 T :0D0D0 Sared 5)0a) €
S0P B0 HOAMN A, B H0YOS S8 & O dodarth. €
&0 9.51 V.OH FOT AoBILNS, D0 C A P
QOO

(1) 9.35am
) 9.36am
3) 938 am
) 9.40am

Options :
1. % 1
2.¥ 2
3.% 3

4. % 4
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A person travelled a distance of 50 km in 2 hours 30 minutes. In order to travel
entire distance in 7 hours lesser tume than the earlier time. he has to increase his

speed (in kmph) by

2.8 558 50 8.20. ST 2 HOL® 30 AMTFOS (HOFEOT. &8
Ao Gromd) D §9) 2 foten 88 ddanod iyl

DO 83650 ) DR, DO IO (§.a0./10)

1) 10
) 12
3j) 15
) 20
Options:
1.9 1

2. % 2

3.# 3

4. % 4
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A person P starts from one corner of his square field and walks along the
diagonal at 5 kmph and reaches the other end m 12 minutes. Then the area of
the field (in sq. km) 1s

28 338 P b IeBRIS ) B0 .8 surer 0@ waben TO
500 MO H0OF 5850, JH0S ST HT DHIGH 12 .o

B0, @) & JB0 FTO50 (19.8.0.08)

(1)

[ T I e el %|,,.1
[

P ]
T
e
I

Options :
1. % 1
2.9¥ 2
3.% 3

4. % 4
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A person P can complete a work m 16 days and Q can complete it in 32 days.

P and Q work on alternate days. Then the time taken (in days) to complete the
work 1f Q starts on first day 1s

2.8 HE8 P 28 DA 16 TS 5370 TODKOE SHO0H &T HA
DTEE Q oF 938 32 FaroS 0 TOMD. P HOCH Qen
ISOSBOM 2,80 SBKared 2,58 020 DAY 522 H DA
BB 52 08 99 GEOES, & 5D 0 TAVHH HEY
DHOH0. (Ferere)

Options :
1. % 1
2. % 2

3.# 3

4.¥ 4
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A person A alone can finish a piece of work m 36 days and another person B
alone can finish the same work in 60 days. A starts the work and after 12 days
he left. Then B starts working and finishes the work. Then the total number of

days in which the work will be completed 1s

28 DA A 00358 2.8,.3 36 TarerdS OToMD. HOOM &)
DAY DTS B 28T 60 O30S JOTOND. A DA
@P0020D 12 520 ST°seh SOO ITd. ST°¢éd B & HAN
BONEGO (PG00 {FOD VD, & D OTHEAS HE3 o

520 oS
1) 40
2) #4
3) 48
4 52
Options:
1. % 1
2. % 2
3.% 3
4.4 4
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If the area of an equilateral triangle 15 4v'3 cm?. then the area of the rectangle
having the perimeter of the triangle 1s its length and the side of the triangle as
its breadth, in cm™>*

2,8 DTV (832020 TNE) FTOS0 413 3.20.20. YD
1992D235) LHENT I FHYTT, (@202 2D2TV) BdeN)

KO AY SHBIN0 FFO0 (9. VO.N.O)

(1) 16
2)
3) 32
)

i

Options :
1. % 1
2. % 2

3.# 3

4.9 4
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If the perimeter and the length of a diagonal of a rectangle are respectively 62
cm and 25 cm. then the area of the rectangle. in cm?, is

2,8 B0 90|00 TIEY, Y Fered sHOAN JEY0 &rcsayen
SHRITT 62 0.0, VOO 25 V000, ©ONS, &8 AY IS0
IF050 (3. V0.0.05)

(1) 168
144
182
4) 128

Options :
1.9 1
2. % 2
3. % 3

4. % 4
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The outer dimensions of a closed wooden box are 46 cm x 31 em x 26 cm. If
the box is made of 0.5 em thick wood. then the capacity of the box, (in cm?), is

2,8 Q) &) BE) DT GIE), 2rars Teresen
46 0.00. X 31 RO.0D. X 26 0.0D. & DV 0.5 0.a0. 000
o) TES DR DL BOE), DTS00, 0.20. ©)

(1) 30624
2) 33750
(3) 35100
(4) 34875

Options :
1. % 1
2.9¥ 2
3.% 3

4. % 4
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An ice cream cup 1s in the shape of a cone surmounted by a hemusphere. If the
height and base radius of the conical part are respectively 5 cm and 2 cm, then

the volume of the ice cream, (in cm?), is

2,8 50506) 3 @0 o) &S00S 2,8 57180 89 0. ¥050)
Q0] DR, WFTRPTEN SRIT 5 0.0., DO 2 0..
90NN, 8 D 150 D HOTEI0 (D) 0.0, O)

(1) 97

2) 12n

(3) 187

4) 24n

Options :
1. % 1
2.¥ 2

3.# 3
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If two 1dentical cubes of side length 15 cm are joined together. to get a cuboid.
then the total surface area of the cuboid. in cm?. is

15 0.0, B0 FBHD DS Do AT HTOD
25T @a800I)® 0B AY 0 TBNE) Dod
&H0BO FTO0 (5. 0.00.06)

Options :
1. % 1
2.9¥ 2
3.% 3

4. % 4
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The area of a semicircle is measured as 1232 ecm’. Then the perimeter of that
- ; ; 22
semi circle, (in cm), s (take T = ?J

28 @0 5980 T0E), FTO0 1232 3. V0.00. @ONIYCH, & &
598a) Y §0& (R0.D.0S) (@581 =2)

(1) 88

Q) 116
3) 128
4) 144

Options:
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If the radius and height of a cylinder are increased by 5% and 10% respectively,
then the percentage increase in the lateral surface area of the cylinder is

2,8 A0 Q3nE), 75rQ0 SO N ST 5% OGN
10% OB, € A0 T8 (98] B0 FF0306 DHHEE
750

1) 14
2) 145
3) 15

@) 155

Options :
1. % 1

2.8 2
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In the binary system, 11011+ 101010 =
& £087 s S50 ¢, 11011 + 101010 =

(1) 1100101
(2) 1000101
(3) 1000111
(4) 1100110

Options :
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The digit in the units place of the number of 75 is

7152 €955 0L A 2,88 TR0 &) 03

2) 3

3) 4

4 3
Options :
1.9 1
2.1 2
3. 3
4. % 4
Sub-Section Number : 2
Sub-Section Id : 785674357
Question Shuffling Allowed : Yes
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If a set A has 8 elements. then the number of subsets of A with atleast one
element 15

A BT IS S § PO, SN0 28 Srosd) §6)
&) € AN AOYP]

1) 93
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For three sets A, B and C. if
n(AnBNC)=1;n(A) =18 n(B) = 15n(C) = 16, then

nAUBUC)+n(AnB)+n(BNC)+n(CnA)=
(Here n(X) denotes the number of elements in the set X)

A,B,C @ P daded ey
n(AnBNC)=1;n(A) = 18,n(B) = 15,n(C) = 16 ©ONS.

nAUBUC)+n(AnB)+n(BNnC)+n(CnA)=
(95,65 n(X) 9RO D X 'R STOFO S0P ArDN0H)

(1) 44
2) 40
3 45
4 50

Options :
1. % 1
2. % 2

3.# 3

4.9 4
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The coefficient of x* in the product
(2x* +3x% +4x* + 5x+ 6) (5x* + 4x° +3x* + 2x + 1) is

(2x* +3x3 + 4x2 + 5x 4+ 6) (5x* + 423 + 322 + 2x + 1) @@0@56 x?

O3nE). Hheaso
(1) 35
(2) 40
3) 45
@) 50
Options :
1. % 1
2. % 2
3. % 3
4. ¥ 4
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If f(x2+2)=x*+9x>+ 14 then f(x — 1) =

fx2+2)=x*+9x% + 14 ®ONS, f(x—1) =

(1) x2+3x-4
@) x®—3x+4
(3) x*+4x+3
4 x*—4x-3

Options :

1.41
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If a polynomial in x leaves remainders —4, 5. when divided by x — 1 and
x + 2 respectively. then the remainder when the same polynomial is divided by
x> +x—21is

26 2,8 25090 SEDT x — 150000 x + 203
2PAODNY)E -4 HO0K 5 £ FaTPEN TP O, 9T DSTVIO
22 +x - 23 PNODSNCD 00T 320

(1) 3xE1
(2) =—3xrgd
(3) -3x-1
4 3x-1
Options :
1.8 1

2. % 2

3.3

4. % 4
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If the polynomial 3x* — 4x> + ax? + 6x — 5 leaves remainder 7 when divided
byx — 2,thena=__

250N 3xt —4xd +ax? +6x -5 x — 2 D FNODIND 00D
300 70N, q =
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If 3x4+5y="74,7x — 3y =70, then 17x + 23y =

3x+5y=747x -3y =70 @0ONY,17x + 23y =

248
382
426
504

e —
[ - —_—

.
LS
LRI S . T S

Options :
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X 6 X
Hto— 2 ande’ — § thenx®4 yF—
xty 5 V—X

=S 00n L = 600008, x%+y? =
x+y 5 y—X

(3) 14
4 25

Options :
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The solution set (the set of values of x ) satistying the inequality
2x(x —2) <x+121is

2x(x —2) < x+12 ©F HEGETR), GYd0T x DN aded

-3
1 —<x<4
(1) <%
(2) -3<2x<4

. -3
(3’] xbé,xﬂ?

, 3
(4) x:}é,x{iz

Options :

1.41
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If 7 times the 7% term of an Arithmetic Progression is equal to 11 times its 11®
term, then its 18® term is

28 @08 (3AS’ 7 HITAE 7 VLY, 11 & HIXAE 11 DEE S0
90N, & 08 3G 185 G0

1 7
@ 'H
3) 18
@ 0

Options:
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If the 5™ term of a Geometric Progression is 2. then the product of the first 9
terms of this Geometric Progression 1s

28 M FASD 55 G0 2. o, & Hhed (3G S e 9

NIAKSTIIATE)

(1) 512

(3) 1024
4) 2048

Options :

1.41
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If 2tan30° 4+ 6cos45° + 4cot60° + 55in90° + 6sec 180° =
m++vn+ \/E (Here m,n,p are integers). thenm+n+p =

2tan30° + 6 cos45° + 4 cot 60° + 55in90° + 6sec180° =
m+yn+.,/p (@85G mn,p 0 ayQ H0P;EN ) ONS. m+n+p =

(1) 32
2) 31
3) 30
4 29

Options :
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6sin 150° + 3 cos? 240°

5tan 1359 + 6 cot? 3159 il
(1] 23
2y 21
8
(3) 15
@4 1B
4
Options :
1. 8 1
2.8 2
3.¥ 3
4. % 4
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sin @ 1—c056‘_

1+cos@  sin6
1 tan @
@) tang
3) o0
4 7,
©) cotE

Options :

1. % 1

2. % 2

3.3

4. % 4
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1+secl +tanf =p = cosl =

(1) =k
pZ—2p+2
2  2p-1)
pr—2pt+2
(3) p—1
p2+2p+2
4  2p-1)
p?—-2p+1
Options :
1. % 1
2.9 2
3. % 3
4, % 4
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The angle of elevation and the depression of a top of a tower and its base from
the top of the building of 10 meters height is 30° and 60° respectively. If the
base of the tower and bottom of the building are on a horizontal line, then the
height of the tower (in meters) is

10 .S 23330 DO 2.8 IPT((I0 HOAN FTOR & §
Qs SETON DA 30° DO 60°. €3 25530 eacddif) 2r(f0, IR0

TG FOSVEN 2,8 292 TP D &)Y, & IPF0 TwE) )

(Deded)
(1) 15
(2) 18
(3) 40
3
4) 24
Options :
1. % 1
2. % 2
3.¥3
4. % 4
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In a triangle ABC, D 1s the mid point of BC. IfAB=35cm. AC =9 cm and
AD = 5 cm, then the length of BC, in cm. 13

2,8 1829230 ABC ¢ 2030 BC B0E) ¢35 Doe) D. AB=3
0.90)., AC =9 R0.90. HOCH AD =5 0.9D. ©9008, BC &ria)

(0.00.08)
1) av7
@ 247
BG) 45
@ 25

Options :

1.1

2. % 2

3. % 3

4. % 4
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If rod of length 18 cm 1s bent so as to form an equilateral triangle. then the
area of the triangle. in cm’., is

18 0.90. 78590 O 2.8 SO SHTIA0D 2.8 HeD2FaT
193202 SO DAY, & |32DH2B0 TN IFT50

[5.20.9). ©¢)

(1) 53
2 63
(3) 83
4) 93

Options :
1. % 1
2. % 2

3. % 3

4.4 4
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If the sum of the mternal angles of a regular octagon 1s Am radians. then A =

28 15 920 23¢5°) @068 S SnS0 At DRONS O
2900a) ). A =

(1) 6
2) 4
(3 2
@ 1

Options :

1.9 1

2. % 2

3. % 3

4. % 4
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In a quadrilateral ABCD, AC =12 cm and the lengths of the perpendicular
from the vertices B, D to the diagonal AC are 5 cm and 7 cm respectively. Then
the area of the quadnilateral ABCD, in sq. cm., 1

ABCD t9¢0830)80¢ AC = 12 R0.00. HOON B, D 3T 0B
DEG0 AC § AOHDAD ©02PO) Fe8HEN SEIT 5 0.0, HOOD
TR0.2). ) 0D, ABCD thed$d)2 FF050 (5.0.00.06)

1) 36
2) 48

) ™

LA ]

(
(
(
(

4) 96

Options :
1. % 1

2.8 2

3.3

4. % 4

Question Number : 131 Question Id : 7856743256 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I1. Algebraic and Geometrical Ability
D803, 25 eI0D areY seb



AB 15 a diameter of a circle whose radius 1s 12 cm. If a chord CD cuts AB at P
and if AP =4 cm and CP = 6 cm. then the length of PD. in cm. 15

12 0.0, F{RTR), SO 63980 By 2,8 arsid0 AB. CD &9 &5,
ABQ P 3G POBOHAD DO AP =4 R0.00. HO0H CP =6
0.90., 900N, PD 87 (R0.90.08)

(3)
(4)

= oo Wwa | Co oy
w| 5

Options :
1. % 1
2. % 2

3.# 3

4.¥ 4

Question Number : 132 Question Id : 7856743257 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

I1. Algebraic and Geometrical Ability
D803, 25 eI0D areY seb



From point P. two tangents PA and PB are drawn to a circle of radius 5 cm. If
the distance from P to the centre C of the circle is 13 cm, then the area of the
quadrilateral CAPB, in cm?, is

5 0.0, FSTR), SO 28 S9FRE PR Do) oY) PA, PB
© 00 0)5) DO N, Dot P Hod) SySoico ¢
330 110 RGO 13 0.0, oM. eSO CAPB FF50
(15.?00.5)).@_)@5)

(1) 50
2) 60
3) 70
4) 80

Options:
1. % 1
2.9¥2
3. % 3

4, % 4

Question Number : 133 Question Id : 7856743258 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

I1. Algebraic and Geometrical Ability
22309, 235 Ne30D arNY seb



If the vertices of a triangle are (3,—4), (9,4)and (5,7). then the perimeter of
the triangle ( in units) 1s

2,8 (820230 T0E) AT (3,-4),(9,4), (57) ©0NS, & [BZDES0
) F0éh (DTS

(1) 5(4+5)
(@) 5(3+15)
3)  5(5+45)
@ 5(2445)

Question Number : 134 Question Id : 7856743259 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

II. Algebraic and Geometrical Ability
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The ratio in which the point (8. 4) divides the line segment joining the points
A(5.-2) and B(9. 6) 1

A(5. -2) SHO05) B9, 6) DONIOD §07 B DOTA)
20N (8.4) DPR0D A)e3

—

By 3:i2
2 3:1
(3] 2:l
4 2:3

Options:

Question Number : 135 Question Id : 7856743260 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I1. Algebraic and Geometrical Ability
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If the line joining the points (3. -4) and (-7, 1) 1s perpendicular to the line
joming the ponts (6. -5) and (x, -9). then x =

(3, -4) OO (-7, 1) DoHYeD §O T (6, -5) HOAN (x, -9)
DONHOD O TPF ©ODOT &OBY, x=

—
—
g
[}

—
]
R
Lo R o

Options :

Question Number : 136 Question Id : 7856743261 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

II. Algebraic and Geometrical Ability
52805, 2B aDH ardPsed



If the line y = 13x is parallel to the line passing through the points A(7,-5)
and B(6,t). then the equation of the line passing through origin and B 1

A(7,-5) HOAI B(6,t) DoDs)e HOT &6y % DD y = 13x
NP0 G060, R, O DoCN HOAWM B Hom &

DEY Dar dEBE0
(1) y=3x
2) y=-3x
@) y=2
4 y-2x
Options :
1. % 1
2.¥2
3. % 3
4, % 4

Question Number : 137 Question Id : 7856743262 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I1. Algebraic and Geometrical Ability
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If the line y+3x =0 1s perpendicular to the line joining the points
A(3,—4)and B(p,9),thenp =

y+3x =000 6% DY, A(3,—4) HOAN B(p,9)
2)0C06) O O TPE ©OVOIT 0B, @), p =

(1) -36
2) 36
(3) 42
4 -42

Options :

1. % 1

2. % 2

3.¥3

4. % 4

Question Number : 138 Question Id : 7856743263 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I1. Algebraic and Geometrical Ability
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If the line y = mx + c is passing through the points A(—11,0) and B(5, —6),
then m? + ¢? =

y=mx+c ©F 0P A(-11,0) HOAN B(5,-6) @ D0oHH®
O PG LONS, m? + 2 =

(1) 549
64
2) 549
32
(3) 549
16
(4) 549
4
Options :
1.8 1
2.9 2
3. % 3
4. % 4

Question Number : 139 Question Id : 7856743264 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

II. Algebraic and Geometrical Ability
52805, 2B aDH ardPsed



If a straight line 1s passing through the ponts (4. -7) and (1. -5). then the

y-intercept made by this line is

(4, -7) OO (1, -5) DOCNHE HOT® T VO TP T
y- 20650 PO0

@ =
2
@ —B
3
@ B
3
4 =3
13
Options :
1. % 1
2.9 2
3. % 3
4. % 4

Question Number : 140 Question Id : 7856743265 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

I1. Algebraic and Geometrical Ability
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The distance between the linesx + 2y —9=0and 4x+ 8y + 10 =0
(1n units) 1s

Xx+2y—9=0 DO 4x +8y+10 =0 & SSFTPO NS
GrB0 (OHrAES)

19
24/5
23

2V5
23

45
19

45

Options :

Sub-Section Number : 3
Sub-Section Id : 785674358
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 141 Question Id : 7856743266 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



ITI. Statistical Ability
PO §ET7 R N QSed

The Mean of the 40 observations 1.4.7.....1181s

14,7, ..., 118 @ 40 H03000) 0500

(1) 593
61.5

Options:

Question Number : 142 Question Id : 7856743267 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

III. Statistical Ability
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If the arithmetic mean of x,, x,, ..., x,, 15 A, then the
arithmetic meanof x; + a,x, + q, ..., x, + a is

Xy, X, ey Xy © @05 N[N0 A 0N
X;+a, x4+ a,..,x, +a © 08 DRSO

(1) A+a
2) A-a
3) aA
4 A

Options :

1.1

Question Number : 143 Question Id : 7856743268 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

III. Statistical Ability
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Two datas containing 15 and n items have means 12 and 18 respectively. If
the mean of the combined data 1s 16.2. then n =

SN 15 0000 1 HOFOSEN (10 B (T 07T 904
2§ BT 12 HACIN 18. DOOKNS OB 0F0 Q3NE) @08
DCLN0 162 ©ONS, n =

1) 25

2) 30

3) 35

4) 40

Options :
1. % 1

2.1 2

3.3

4. % 4

Question Number : 144 Question Id : 7856743269 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I1I. Statistical Ability
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If a data contains the natural numbers 1,2, 3, ..., 40 with frequencies 1. 3.5, ...
79 respectively, the median of the data is

2.8 G040 1,2, 3, ..., 40 ©9F 9e23 05N IO
1,3,5, ..., 79 P T50S &) 0N, & (T0F0 TnE),

NS0
(1) 29
(2) 30
33 3l
4 32

Options :

1.9 1

2. % 2

3.% 3

4, % 4

Question Number : 145 Question Id : 7856743270 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

III. Statistical Ability
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If the total frequency is 685 and the median is 42.6, then f; =

8080 Derada) B0 )50 685 DOAN NEHBO 42.6
@QD@ flz

et 10-20 [20-30 |30-40 |40-50|50-60|60-70 | 70-80
Class

)00 | 180 | fy 34 180 |136 |f, 50
frequency

I

2

80
82
84
86

3

)
)
)
4)

(
(
(
(

Options :
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Correct Marks : 1 Wrong Marks : 0
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The mode of the following data

1806 & 0F0 TN, &FTVFE0

15, 14, 26, 20, 14, 15, 26, 18, 14, 21, 15, 14, 18, 22, 15, 14, 19, 25

1) 155
@ 175
3) 15
4) 14

Options :

Question Number : 147 Question Id : 7856743272 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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If mean and median of a data are 54 and 53 respectively. Then the mode is

2,8 58040 O308) @08 N 5N OO D5 SO 54,
53 @ONS, LTPIVFE0

{1y 3l
2) 352
(3) 4
4) 547

Options:

1.9 1

2. % 2

3. % 3

4. % 4

Question Number : 148 Question Id : 7856743273 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Three coins are tossed once. Then the probability of getting one head and two

tails 1s

S TRON 280 JHODTAIIED 28 F'o) HOCH DO
SN 3. QDI 50 D0ZTe)§eh

1) 1

8

2) 2

8

3 3

8

@ 4

8

Options :
1. % 1
2. % 2
3.3
4, % 4

Question Number : 149 Question Id : 7856743274 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

ITI. Statistical Ability
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When two unbiased dice 1s thrown once at random. then the probability that
sum of the numbers turned up 1s a prime number is

DO Aar a8 TVEOX 2.8 0 FOODINC ¢3 A 5T
29030 N0 DT DOPS 3NS NEIIF DO2TeI5eh

(1)
(2)
(3)

4)

Options :
1. % 1
2.¥2
3.% 3

4. % 4

Question Number : 150 Question Id : 7856743275 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ITI. Statistical Ability
PO §ETT R PN Q5 ed



A bag contains 5 white and 4 black balls. Two balls are drawn at random one
after the other without replacing the ball drawn. Then the probability that the
first ball is white and the second black s

280006 5B OO 4 SO DO EO). 28 TR eSares
2,563, B 208 AN TEIK0E, DO 0RO drtaiom

SN INGE 208 SO OGN DOGS 208 OO
90D 0CHZ D026 5ed

(1) —

Options :
1. % 1
2.¥ 2
3.% 3

4. % 4

Communication Ability

Section Id : 78567448
Section Number : 3

Section type: Online
Mandatory or Optional : Mandatory

Number of Questions : 38



Number of Questions to be attempted : 38

Section Marks : 50

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 785674359
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 151 Question Id : 7856743276 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 1: Meanings (sentences with dashes)

A child with exceptional abilities 1s called as

(1) frontrunner

(2)  watchdog

(3)  optinust

(4) prodigy
Options :

1. % 1

2.1 2

Question Number : 152 Question Id : 7856743277 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 1: Meanings (sentences with dashes)

Praising the other’s accomplishments 1s known a

(1) jealousy
(2 commendation
(3) reprimand

(4)  censure

Options :

Question Number : 153 Question Id : 7856743278 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 1: Meanings (sentences with dashes)



There 15 good will and among different sections of the society.

(1) harmony
(2)  ammosity
(3) envy

(4) anger

Options :

Question Number : 154 Question Id : 7856743279 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 1: Meanings (sentences with dashes)

She felt at her son’s success in the examinations.

(1)  depressed
(2)  disapponted

(3) elated
(4)  unhappy
Options:
1. % 1



Question Number : 155 Question Id : 7856743280 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 1: Meanings (sentences with dashes)

After the close finish of the game, the players were

(1) celebrated
(2) fatigued
(3) censured

(4)  mspred

Options :
1. % 1

2.9 2

Sub-Section Number : 2
Sub-Section Id : 785674360
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 156 Question Id : 7856743281 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms

The synonym of ‘impediment” 1s

(1) rudiment
(2)  hurdle
(3) convenience

(4)  restriction

Options :

Question Number : 157 Question Id : 7856743282 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms

The synonym of ‘infringement” 1s

(1)  wviolation
(2)  compliance
(3) adoption

(4)  arrangement

Options :



1.9 1

Question Number : 158 Question Id : 7856743283 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms

The antonym of ‘lucid’ 15

(1) clear
(2 understandable
(3) obscure

(4)  brnght

Options :

1. 8 1

Question Number : 159 Question Id : 7856743284 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Part 2: Synonyms and Antonyms

The synonym of “obliging’ 1s

(1) obstinate
(2)  willing
(3) unwilling
(4) forcing

Options :

Question Number : 160 Question Id : 7856743285 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms

The antonym of ‘pompous’ 1s

(1)  pretentious
(2) showy
(3)  unpretentious

(4) arrogant

Options :

1. 8 1



3.3

4, % 4

Sub-Section Number : 3
Sub-Section Id : 785674361
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 161 Question Id : 7856743286 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice)

My grandson the guitar every week.
(1) 15 practicing
(2)  practices

(3)  has been practicing

(4)  was practicing

Options :

Question Number : 162 Question Id : 7856743287 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice)

Rama the work just now.

(1)  has fimshed

(2)  has been fimshed
(3)  finishes

(4) fimshed

Options :
1.9 1
2. % 2
3.% 3

4. % 4

Question Number : 163 Question Id : 7856743288 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice)

Post this letter. (Rewnrtte in passive voice)

(1)  Tlus letter is posted.

(2)  Thus letter 1s being posted.
(3)  Let ths letter be posted.
(4)  Let you post this letter.



Options :
1. % 1

2. % 2
3.% 3

4, % 4

Question Number : 164 Question Id : 7856743289 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice)

My mother has baked a cake for the birthday party.

(Rewnte 1n passive voice)

(1) A cake 1s being baked by my mother for the birthday party.
(2) A cake has been baked by my mother for the birthday party.
(3) My mother has been baking a cake for the birthday party.
(4)  The burthday party has been baked a cake for my mother.

Options :

Question Number : 165 Question Id : 7856743290 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice)

Scarcely the procession begun, when the police moved i to arrest.

(1) has
()  was
(3) had
(4 1s

Options :

Sub-Section Number : 4
Sub-Section Id : 785674362
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 166 Question Id : 7856743291 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms



‘Above board” mdicates

(1)  airtravel

(2)  bemng honest

(3) cetling of a chamber
(4) luggage cabm.

Options :

Question Number : 167 Question Id : 7856743292 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms

‘Hand 1n glove’ means

(1)  to cover the hand
(2)  to lude something
(3)  1nclose agreement

(4)  afriendly exchange

Options :



¥ 3

Question Number : 168 Question Id : 7856743293 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms

‘Pass the buck’ means

(1)  avoid responsibility
(2)  give bribe
(3)  exchange currency

(4) sudden exat

Options :
1.9 1
2. % 2
3.% 3

4. % 4

Question Number : 169 Question Id : 7856743294 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms



‘put out” means

(1) to keep out
(2)  to give way to others
(3) to arrange

(4) to extingmish

Options :

4. 4

Question Number : 170 Question Id : 7856743295 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms

‘Deliver the goods’ means

(1)  achieve results.

(2)  give compliments.
(3)  Exchange greetings.
(4)  work hard.

Options :

1.1

2. % 2

3.



#® 3

4. % 4

Sub-Section Number : 5
Sub-Section Id : 785674363
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 171 Question Id : 7856743296 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Part 5: Articles & Prepositions
He prefers to travel in RTC bus.

(1) a

(Z) an
(3) the
(4) about

Options:

Question Number : 172 Question Id : 7856743297 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Part 5: Articles & Prepositions

Climate change 15 umiversal problem
(1) the
(2) an
(3) a
(4) at
Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 173 Question Id : 7856743298 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Part 5: Articles & Prepositions

She took her mother n appearance.
(1) on
(2 after
(3) to
(4) off
Options:

1. 8 1



Question Number : 174 Question Id : 7856743299 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Part 5: Articles & Prepositions

The manager follows the footsteps of his bosses.

(1) 1

(2) upon
(3) beside
(4) at

Options:

4, % 4

Question Number : 175 Question Id : 7856743300 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Part 5: Articles & Prepositions



The owner of the company 1s vexed lus employees.

(1) upon
(2)  about
(3) at

(4)  with

Options :
1. % 1
2. % 2

3. 3

4. 4

Sub-Section Number : 6
Sub-Section Id : 785674364
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 176 Question Id : 7856743301 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 6: Computer Terminology

How many Gigabytes 1s equal to one Terabyte (in bmary)?

(1) 1024
(2) 1000
(3) 10000

(4)  One million

Options :



1.9 1

Question Number : 177 Question Id : 7856743302 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 6: Computer Terminology

Firewall

(1)  allows malicious traffic like viruses and hackers.
(Z blocks malicious traffic like viruses and hackers.
(3)  prevents burning of stored information.

(4)  blocks programmers from running.

Options :
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Part 6: Computer Terminology

HTTP stands for

(1)  Hyper Text Transfer Programme.

(2)  High-level Text Tramnng Practice.
(3)  Hyper Text Transfer Protocol.

(4)  Hyper Text Traming Programme.

Options:
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Part 6: Computer Terminology

Login helps

(1) to gain access to a computer system.

(2)  to exist from a computer system.
(3) toclose a file.

(4) toclose a programme.

Options :

1.1
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Part 6: Computer Terminology

Mother board 1s

(1)  mother of all programmes.
(2)  the mam circuit board in a computer
(3) momnitor

(4)  aperipheral device

Options :
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Part 7: Business Terminology

Which analysis 1s primarily concerned with the identification, quantification and evaluation of

project resources?

(1) Techno-econonuc
(2) Input

(3) Financial

(4)  Network

Options:
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Part 7: Business Terminology

Fiancial position of business under incomplete accounting record is shown through

(1) Human Resource Management.
(2) Balance Sheet.

(3)  Statement of Fund Flow.

(4)  Statement of Affars.

Options :
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Part 7: Business Terminology

Management principles have

(1)  limited applicability.

(2)  umversal applicability.
(3)  hard and ngid application.
(4)  no applicability.

Options:
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Part 7: Business Terminology

Good business environment requires

(1)  political mstability.
(2)  social nsecurity.
(3) political stabality.

(4)  unstable economy.

Options:
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Part 7: Business Terminology

A written summary of context and content of job s called

(1)  resume.

(2)  job description.
(3)  job specification.
(4)  job posting

Options :

1. 8 1
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Question Numbers : (186 to 190)

Part 8: Comprehension

While some have rejected the government’s mifiafive to set up foreign universities n
India calling 1t a predatory practice, others have embraced 1t as qualify-enhancing step. Missing
from the conversation are the economic aspects. It appears that the assumptions that Indian
education market 15 attractive and would also lead to relatively affordable, high-quality
education are taken for granted. Ground realities compel a reassessment. Two promising
numbers drive the government’s assumptions. First, as the Mimstry of Education recently
clarified 1n Parliament the number of Indian students going abroad mncreased from 4.4 lakh
2021 to 7.5 lakh 1 2022, The calculation 1s that Indian market 15 an enticing market even if
foreign universities can tap nto a fraction of this outward flow. Other reinforcing data are the
enrolment fipures. The all-India survey on Higher Education estumates that 4.13 crore students
are enrolled in higher education. If the policy target 1s to achieve a 50% enrolment ratio by
2035 from the current 27.3%, the intake of students will almost double m 15 years. Much of
this 15 expected to happen mn private mstitutions which currently accommodate only about a
quarter of enrolment.

Sub questions

Question Number : 186 Question Id : 7856743312 Question Type : MCQ Option Shuffling : No
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Part 8: Comprehension

Some people have expressed reservations aganst setting up of foreign universities because

(1)  They pose a serious threat to state universities.
(2)  They stall outward flow of students.
(3)  They resort to explotative methods.

(4)  Students join those in large numbers.

Options :
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Part 8: Comprehension

Others have supported the 1dea of foreign universities entering India on account of

(1)  ther affordability.
(2)  their reach and inclusiveness.
(3)  their social concern.

(4)  quality and excellence.

Options :

1.
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Part 8: Comprehension

What 15 the ground reality, according to the author?

(1) Indian education market 15 attractive.
(2)  Foreign umversities would lead to affordable education.
(3)  High quality education 1s assured.

(4)  The above are assumptions only.

Options :
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Part 8: Comprehension

What 15 the calculation of Indian government?

(1)  India offers an attractive market.
(2)  Foreign umiversities pose a threat to Indian universities.
(3)  Foreign umiversities cannot compete with our universities.

(4)  State umiversities have become meffective.

Options :
1.9 1
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Part 8: Comprehension

The mtake of students will almost double mn 15 years only in

(1)  Central umiversities.
(2)  Premier institutes like IITs.
(3)  Central and State universities.

(4)  Both private and foreign umversities in India.

Options :

1. 8 1
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Question Numbers : (191 to 195)

Part 8: Comprehension

On 15% December, 2022, the 36® and the last Rafale fighter jet landed in India after
taking off from France, the Indian Air Force said on Thursday. “The last of the 36® AF Rafale
Arrcraft landed 1n India affer a quick en-route mud-air refuelling from a UAE Aur Force fanker
arrcraft after taking off from France fo reach India,” ANI quoted Indian Air Force (IAF)
officials as saying. The deal was signed for 36 planes out of which 3 have already been delivered
and stationed at Ambala, Haryana and Hashimara in West Bengal. The 36® aircraft has been
provided to the Indian side by France wath all 1ts spares and other parts replaced as 1t was bemng
used for developmental activities, the officials added.

The first batch of Rafale jets arrived in Incia on July 29,2020. The IAF also started
upgrading the planes to the highest standards and equipped them with all the India-specific
enhancements.

The Rafale 15 a 4.5 generation awrcraff with long range air to air and air to ground
mussiles along with advanced radar and electronic warfare capabilities.

The French firm Dassault Aviation 15 also mvolved m the mamtenance of the aircraft,
whose serviceabulity 1s over 75 per cent. The Rafale was mducted swiftly into the Indian A
Force at the peak of the conflict with China and had started operating over Ladakh within a
week of 1fs arrival in the country.
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Part 8: Comprehension

This passage 1s probably a

(1)  Press release from the IAF.
(2) A magazme article.
(3) A bulletin from the Government of India.

(4) A newspaper ifem.

Options :
1. % 1
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Part 8: Comprehension



The main theme of the passage 1s

(1)  The positiomng of the Rafale jets in India.

(2)  The deal between France and India.

(3)  The arnival of the last jet in India.

(4)  Upgrading of the jets with specific equipment.

Options :
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Part 8: Comprehension

In the deal with Dassault Aviation, how many jets were ordered?

(1) 5

(2) 45

(3) 36

(4 35
Options:
1. % 1
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Part 8: Comprehension

Select the statement which 1s NOT correct

(1)  All the Rafales have not yet been delivered.
(2)  The Rafale 1s being customised to serve the IAF requirements.
(3) The Rafale was first used in the Indo-China conflict.

(4)  The maintenance of the jets will be taken up by the manufacturer.

Options:

1.9 1
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Part 8: Comprehension



The antonym of the word ‘enhancement’

(1) Improvement
(2 Reduction
(3) Enrnchment

(4)  augmentation

Options :
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Question Numbers : (196 to 200)

Part 8: Comprehension



Philosophy of Education 1s a label applied to the study of the purpose, process nature
and 1deals of education. It can be considered a branch of both plulosophy and education. Plato
15 the earliest important educational thinker, and education 1s an essenfial element mn “The
Republic”. In it, he advocates some rather extreme methods: removing clildren from their
mothers’ care and raising them as wards of the state, and differentiating children suitable fo the
various castes, the highest recerving the most education, so that they could act as guardians of
the city and care for the less abled. He believed that education should be holistic and that talent
and intelligence 15 not distributed genetically and thus is to be found m children born to all
classes, although lus proposed system of selective public education for an educated minonty of
the population does not really follow a democratic model.

Aristotle considered human nature, habit and reason to be equally important forces to
be cultivated 1n education, the ultimate aim of which should be to produce good and virtuous
citizens. He proposed that teachers lead their students systematically, and that repetition be
used as a key tool to develop good habits, unlike Socrates” emphasis on questioning his listeners
to bring out therr own 1deas. He emphasized the balancing of the theoretical and practical
aspects of subjects taught, among which he explicitly mentions reading, writing, mathematics,
music, physical education, literature, history and a wide range of sciences, as well as play, which
he also considered important.
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Part 8: Comprehension

Education 15 considered a branch of

(1) Philosophy only.

(2)  Education only

(3)  both Philosophy and Education.
(4) teaching

Options :
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Part 8: Comprehension

The author of “The Republic’ 1s :

(1)  Aristotle

(2) St Thomas Aquinas
(3)  Socrates

(4) Plato

Options :
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Part 8: Comprehension



Who, according to Plato, have the potential of becoming guardians of the city?

(1) the least-educated.
(2)  the less-abled.
(3)  wards of the state.

(4)  highly-educated selective minority of students.

Options :
1. %1
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Part 8: Comprehension

The purpose of education, according to Arnstotle, 15

(1) to produce strong citizens.
(2)  to traimn the students as good and virtuous cifizens.
(3) to shape questioning students.

(4) to produce bad citizens.

Options :
1. % 1
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Part 8: Comprehension

Which of the following statements 15 true in the context of the passage?

(1)  Education and philosophy do not go together.
(2)  Plato advocates a democratic system of education.
(3)  For Anstotle, repetition 15 not the key tool to develop good habits.

(4)  Anstotle believed m balancing the theoretical and practical aspects of teaching
subjects.

Options:



